Card 1

A farmer has 10 pigs and 12 sheep.
How many animals does he have
altogether?



Card 22

Jenny has 14 marbles. She buys 5
more on Tuesday and 6 more on
hursday.

How many does she have now?




Card 25

Calculate 10 + 10 + 15



Card 35

Gary has 28 sweets.
He gave half to his sister.
How many does he have left?



Card 14

Jessie has 7 tish, Poppy has 29
fish.

ow many fish do Jessie anad
Poppy he have altogether?




Card 36

Calculate 20 - 18



Card 2

There are 20 pens in one pack.

How many pens are there in 2
packs?



Card 40

There are 25 sugar cubes. Rudolph
eqts 8.
How many are left?



Card 1/

What is 1 more than 597



Card 60

What is 10 less than 397



Card 29

Class 4b has 20 children.
12 are qirls.
How many are boys?



Card 8

20-17="7



Card 3

547 =26




Card 21

T+MN+NM="7




Card 33

| have 100 stickers and give 50
away.
How many stickers do | have left?



Card 50

Susan has 13 games and |Isaac has
14 games.
How many do they have
altogether?



Card 27/

What is the difference between 15
and 11?



Card 4

12-10+8="7



Card 10

What is the difference between 33
and 227



Card 11

Simon has 24 sweets and eats 23.

How many sweets does he have
left?



